1] 2] 3l 4] 5] 6

DESCRIPTION : ABOVE PCB, DECK AND PUSH ROD LOCATION ARE AS VIEW BY USER.
PRODUCT NO.| PUSH ROD LOCATION
STAND—OFF MATING P.C.B RECOMMENDED MOUNT STYLE TO
z e | PCB AND PUSH ROD
: (®) 61532—#wksx | CLOSEST | FARTHEST)  gigHt RECEPTACLE | SIDE P.C.B LAYOUT SIDE
. T0 PCB | TO PCB
3¢ -
% 000CA LEFT RIGHT 0.0
i 020CA LEFT RIGHT 2.0
2 022CA LEFT RIGHT 2.2 s et
2 A FE] TR TR T P A
25 040CA LEFT RIGHT 4.0 —
g ; 043CA LEFT RIGHT 4.3
s g 050CA LEFT RIGHT 5.0
i3 100CA RIGHT LEFT 0.0
i: § 120CA RIGHT LEFT 2.0 100 POSITIONS
5 122CA RIGHT LEFT 2.2
i (2x50) 0.8mm SEE DRAWING
s % 140CA RIGHT LEFT 4.0 RECEPTACLE ABOVE A A
§,§ 143CA RIGHT LEFT 4.3 PART NO. NO.: TA-1050
k] 150CA RIGHT LEFT 5.0 73277-101000
B 200CA RIGHT RIGHT 0.0 B
220CA RIGHT RIGHT 2.0
s 222CA RIGHT RIGHT 2.2
t 3
mg 240CA RIGHT RIGHT 4.0
g 243CA RIGHT RIGHT 4.3
250CA RIGHT RIGHT 5.0
—; _ 300CA LEFT LEFT 0.0
s% 320CA LEFT LEFT 2.0
%g 322CA LEFT LEFT 2.2
55 | 340CA LEFT LEFT 4.0 ¢
3§ 343CA LEFT LEFT 4.3
é, 350CA LEFT LEFT 5.0
3 mat’l code tolerance unless | CUSTOMER
§§§8 ORDERING _INFORMATION otherwise speciied | comy IBERG
EQHE NAME pART NO- Q,TY rev.jecn nol dr | date i ELECTRONICS
; A | 760288 [w Llr/2s inear + 0.30 projection |title
@ EJECT HEADER ASS'Y [ 61532 —%dkxx 1 B | 160452 wumT/g CARDBUS UPGRADABLE
g’éog C | 760488 |W Lhz/10/96 ang}lz[s T 2 SPRING BACK, TYPE 1/2/3
2p® — i D | 770224 |W Ljossiy/ez]| dr NDY CHENP7/25/9§ unit product family code
§ = MATING RECEPTACLE |73277-101000f 2 _dr enor mm;zs/gs T do
I hr POSEPH HSIAD7/25 /96 scale sheet
2 g loc»rd.enn TSAOD7/25/58 1w A3 61532 1 0F 6
sheetlrevision[ DJOJ DI O[O AT T T T T T T T T T T T T 1
D index|sheet [ 1 [ 2] 34516l T T 1" T | T T T T 1 T 1 D
1] 2] 3] 4] 5] 6

PDM: Rev:D statusReleased  Printed: Oct 12, 2010



1] 2| 3] 4| 5 6
PRODUCT NO.
SEE TABLE A
59.85
M2 INSERT
610.3
c Z ® 11.6%
: 2 . et
= p w1 ¥y AN Tj\hHE———emm e e e ——— -
. = 1 | af | WibaQHM .
58 I = 1@ )
2 H =
83 3 5
% A 1 = A
5§ | p.C.B ~
z R N ! TABLE A
38 /® |
L 2 ]
-;85 | PRODUCT NO. | STAND—OFF(DIM. L)| DIM. S| DIM. A
%, g 9. | 61532—050CA 5.0 mm ~0.3 | 89.25
éﬁ °l @ l 5 —043CA 4.3 mm -0.3 | 89.25
4
§SE | 4 —040CA 4.0 mm -0.3 89.25
[{e]
§, s tay i g —022CA 2.2 mm 10 | 9055
MAX.I o
4 5 DIM.L " NUT | : —020CA 2.0 mm 1.0 | 9055 5
— I | ' [$) —_ —
of ol— ::____._:@_ | g s 000CA NONE 5.5 95.05
o g T YT
) o] . ]
© o I | l
2
s : i
& g e s
. 0.95 |
] o
s | ' 51.4 o]
by 11| G
%% I 54.2
51| 5 ’
!?5 31.5 ‘ 33.5 L3
5 ¢ 5858  C
80
ig PIN Al 41.91£0.1 ;%
%é PIN A35 \oof 1:2720.1 E /
‘ y > b=
34 I N TN = mat’l code tolerance unless | CUSTOMER
}f ; m{ N = ] otherwise specified COPY [@E@@
1 ws-l_[ ; J rev.lecn nol dr | date i ELECTRONICS
EE‘EE l:g SRR D NeArl__ & 030 ] projection ltite ¢ aRnBUS UPGRADABLE
ity B o 534/ snales =7 @ =3}| sPrING BACK, TYPE 1/2/3
- PIN B35 PIN B68 dr_WENDY CHEND7/25/9 unit product family code
§ enarosern HAP?/25/94 MM/Inch [size [dwg no. MT:T
. —_ hr DOSEPH HSIAD7/25/96 scale s
z P/N: 61532-0#xCA chr lOSCP b7 /25/ 59 w1 A3 61532 2 OF
_ sheet]revision] [ | I 1. 1T 1T 1 T 7T 1T T 1T ° T 1
0 (ABOVE P.C.B/LAYOUT SEE TA-1050) index [ aheet |11 W O O |
1] 2] 3] 4] 5] 6

PDM: Rev:D

statusReleased

Printed: Oct 12, 2010



1 2] 3] 4 5] 6
PRODUCT NO.
SEE TABLE A 59.85
M2 INSERT
A 11.620.3

£ ®
s 0 el g
= N @ B T
4 g |- S| Se—
£ i’ ¢ R
23 : O 1 —

2 l *

3 = A
38 | P.CB th ] TABLE A B
83 i ! B
i | |
‘% S /@ i PRODUCT NO.| STAND—OFF(DIM. L)| DIM. S| DIM. A
;=8
§§ E < 8 i 61532—-150CA 5.0 mm -0.3 89.25
it ] gl g 0 . z ~143CA 4.3 mm ~0.3 | 89.25

&)

5% o ﬂ | g ~140CA 4.0 mm -0.3 | 89.25
i’, | 3 ~122CA 2.2 mm 1.0 90.55

,% 1.4 | ©
1 wax | Il . 2 ~120CA 2.0 mm 10 | soss

Bj P M2 NUT | o ~100CA NONE 5.5 95.05 il
ool __T ' &
ol - -_::‘:.—:@' H !
O o | | § |
e el ' |
v 2 V.99 L
: Qo
i 51.4 i ;

; Bl L
4 T 2 ™
3 5 1.5 8.25
;5 315 | 335 A
I5 cl 5.8 5.8 J c
3§ 41.9140.1 PIN A34

PIN A1 : - 4 /PIN_A68
(=
'z. PIN A35 \—] j-1:27£0.1 E /
% ml : > A=
R P FIT s
I3 "" L = 'HL':; mat’l code tolerance unless | CUSTOMER [BE@

& .-_[ l FrrrrTyT otherwise specified | ~ypy

E%ﬁé ” t ;.l rev.iecn nol dr | date i ELECTRONICS
' : D neart 4+ 030 [ projection [tile ¢aRnBUS UPGRADABLE

§§°§ ;%j %/ angesl T 7 -@E} SPRING BACK, TYPE 1/2/3

258 dr_WENDY cHENP7/25/9¢ unit product family code
i engrlosePh nsiaP7/25/98 mm/inch [size Tawg no. TWN
= § P/N: 61532—1++CA chr POSEPH_HSIAD7/25/96 scale A3 61532 sheet
: oppd{JENN TSAOP7/25/9§ kil 3 OF

(ABOVE P.C.B/LAYOUT SEE TA-1050) shestlrevision] | 1 T T T T T T T T T T 11
D index|sheet | | | N I N N N N O T O P A O )
1] 2] 3] 4] 5] 6
PDM: Rev:D statusReleased  Printed: Oct 12, 2010




2|

3] 4] 5] 6
PRODUCT NO.
SEE TABLE A 59.85
. 7 11.640.3 M2 INSERT
§ T;h. }—} @ L ) IL]H_.'_'T;T.:*'_":;T;’_._;...
T ar B ‘ 9 R —-- -
o3 ) l © Jd—--—-- - o
b 5 ) 4 Y7} —
& - * ~ I o
2 2 ~ oRi_ 1 1 -
§ A ; : —t—F LR :
i a— T B
3 P.CB T ——
% . . ' PRODUCT NO. | STAND—OFF(DIM. L)| DIM. S DIM. A
;s § ! 61532—-250CA 5.0 mm -0.3 89.25
i?EE /® | . ~243CA 4.3 mm -0.3 | 89.25
3 3w 8 | @ —240CA 4.0 mm -0.3 | 89.25
ol o ]
E%% ®l o | § —222CA 2.2 mm 1.0 | 90.55
> ' zZ
s 1.4 MAX ® | - ~220cA] 2.0 rom 0 | 9055
) . Q
& DIM.L | Il | > —200CA NONE 5.5 95.05
B ' 2 B
] 1 [ M2 NUT | S B
oY m— i g
M Fa= 1. |
: 2 . |
; o L‘: | .
E o]_:] 0.95 |
° |
3 ‘ 51.4 ' 3
§§ L J J °
£ b\ K H
3 I 54.2 I '
gs 5.5 ' 8.25
if C 315 ! 33.5 | [L3a C
2t = 5.8(5.8 { —
ig PIN A34
it PIN A1 4191201 PIN AG8
2%

strictly reserved.
bR ELECTRONGS.
BERG ELECTRONICS bv

o R e oserteat tesasstetasitantit mat’l code tolerance unless | CUSTOMER [@E@
1] otherwise specified COPY
;1_ rev.iecn nol dr | date | | ELECTRONICS
D linear % 030 | projection |title

: ? CARDBUS UPGRADABLE

\FN B1 :l_N%/ T '@"5‘ SPRING BACK, TYPE 1/2/3
PIN B35 IN B6§ dr_MWENDY CHENP7/25/9¢] unit . product fomily code
engr [iosepy HsiAP7/25/98 mm/inch [size dwg no. TWN
P/N . 61532—2#xCA chr DOSEPH 1HS1AD7 /25 /96 scale A3 61532 sheet
oppd|JENN TSAOD7/25/96 1 4 OF
(ABOVE P.C.B/LAYOUT SEE TA—1050) sheet[revision] | | F T T q | O T 1
index| sheet | | | LT b1 [ T T T 1 [

1] 2] 3] 4] 5] 6

PDM: Rev:D

statusReleased

Printed: Oct 12, 2010



2]

1 3 4] 5] 6
PRODUCT NO.
SEE TABLE A 59.85
. z 11.6+0.3 M2 INSERT
" ®
4 ) [E—.T--T-_-?:r_:-_-w;_._
i i = )
©3 D l © ?’Jt_!u == —-- _!_ _____ .
‘ i S - RN 24 I
3 : 11 = — Mo :
3 H 2 o = il TABLE A
f 4| I —— - ===4 A
3 i I B
F R T 1L 1 1 B 11 | e — = -‘k‘
8 i r:I:l RODUCT NO. STAND-OFF(DIM. L) DIM. S DIM. A
(2 §
ngg /@ i 61532—350CA 5.0 mm -0.3 89.25
gs g 0 ; —343CA 4.3 mm -0.3 89.25
: i s l i 3
§E§ z ! ol 2 —340CA 4.0 mm -0.3 | 89.25
[
;-og 2 ' ﬂ o —322CA 2.2 mm 1.0 90.55
e} ~
g% 1.4 MAX - @ , ~320CA 2.0 mm 1.0 90.55
2 oL | it l 0 -300CA NONE 55 | 95.05
B x ! B
] M2 NUT S , B
L QO 1
@l = == 4 | o
w| Jitt |
G < | /|
m; '
M4 fr s ,
e .95 '
& 3 51.4 :
i b _J
3 L se2 |
!Sg 5.5 8.25 | ' -
: 1 5 .
253 58|58 34 33 31.5 | C
PIN A1
_Eg M\% 41.91+0.1 PIN A34
g \H 127001 | /o aes
. = i [ '
2 ::::::::::::::-’-::-"---:::::: 1 mat’l code tolerance unless | cusTomer
.Eg n— ﬁ otherwise specified copy [@E@(é :
ig SO T T T B rev-een nol or [ dote | ELECTRONICS
§§ ; D MO £ 030 T prolection [ carpBUS UPGRADABLE
§§°§ PIN B PIN 33437 anales T @E% SPRING BACK, TYPE 1/2/3
o PIN B35 PIN B68 dr_WENDY CHENP7/25/96 unit . roduct fomily code
s enar JosEPH HSIAD7/25/96 MM /inch [size dwg no. TWN
i E P/N : 61532—3sCA chr JoseP_nsiAp7/25/ad scale A3 61532 sheet
] oppdlJENN TSAOP7 /25751 1 5 OF
(ABOVE P.C.B/LAYOUT SEE TA-1050) sheetfrevision] [ | L T T 1 I T T T T T 1
D index| sheet | | | lIlIIIlIlIIIIlD
1] 2] 3] 4] 5] 6

PDM: Rev:D

statusReleased

Printed: Oct 12, 2010



2

3}

4] 5]

d ¢ peR ¥
ita d'l I':p:odlc’um BERG ELECTROWICS bv

Tous drolte atrictement ressrvas. Reproductlon ou communicotion & des lers [t

sous queiqus forme qus o solt sons outorisotion scrite du propletaire.
Gqﬂ.ECTRONICS

jm

ILI‘YIUDC@

B

ittad without written guthorly from tha proprister.

o
G ELECTROMNICS,

All rights striclly ressrved. Reproduction or lssue to third parties In any for
whatever I: ag
of o

t
Propert: BeR
Copyright BERG ELEGTRONICS bv

L)

PART NUMBER DESCRIPTION :

81532-00 000

NOTES:

1 8.0mm MIN CARD EJECT.
2 BJECT TRAVEL: 9.50mm
3 MATERIAL:

[»

T 1T I 3.1 EJECT HEADER ASS'Y
BUTTON COLOR PLASTIC HOUSING: LCP ULS4v-0 BLACK
A : BLACK PIN: PHOSPHOR BRONZE
PCB: FR4
PLASTIC GUIDE: POLYPHTHARAMID UL94V-C BLACK
C: 13.0 mm PLATE: STAINLESS
EMI CONTACT: PHOSPHOR BRONZE
3.2 RECEPTACLE
STAND—OQFF .
PLASTIC: LCP 94V—0 NATURAL
00 : 0.0 mm PIN: BeCu
20 : 2.0
59 . oo 4 FINISH (PIN)
40 ) 4'0 mm UNDER PLATING: 0.5um MIN Ni
43 . 4'3 mm CONTACT AREA: 0.1um MIN GOLD OVER
50 50 mm 0.5um MIN Pd-—Ni
SOLDER TAiL: 2.5umMIN Sn—Pb
PUSH ROD S PUSH ROD LOCATION AND P.C.B. ARE AS
APPEARS INSTALLED
TOP MOUNT -
6 DM "X
0 : RIGHT-LEFT 4.25£0.1| 3.5£0.1 50101
1 : LEFT-RIGHT OTHERS 36,67 |1,17,34,35,51,68
2 : RIGHT—RIGHT
¢ 7 DO NOT TOUCH AND KEEP CLEAN THE SURFACES OF
51 LEFT-LEFT PCB OF HEADER ASS'Y.
8 P.C.B LAYOUT AND PIN ASSIGNMENT REFERED TO
PART NUMBER TA—-1050.
mot'| code tol [ CUSTOMER
otﬁeﬁlﬁg:es;:c‘?zzd COPY IB E IE@
rev. |ecn nadr | date ELECTRONICS
A linear 10.30 projection |title CARDBUS £J HEADER
ngles T @-E} SMT, TYPE 1/2/3
dr WENDY CHEND7/25/9Gunit roduct_fomily code
le_ngr_JOSEPH H5|AD7‘/,25;9€ mr'n/mch size [dwg no. shth
MOSEPH HSIAD?/25/96scale ee
bcpr;:d JENN_T5A0[07/25/96 m [A3 81532 5§ oF
sheetfevision] [T [ | T T T T T T T T T T T [ [ T ]
indexfsheet | [T | [ [ T [ | T { [ [T 1T 1 T 11
1 2] 3 4] 5]

PDM: Rev:D statusReleased  Printed: Oct 12, 2010



